
Calendar Answers

1. 15
2. 3 decorations 

10 cups of milk3. 
21 sleeps 4. 

5. 12 months 

6. 19

7. Whatever shape the present 
drawn is

8 . 31 days

9 . True

10 . 7 + 3 = 10, 4 + 6 = 10

11 . 3 Christmas trees

30. Rectangle 
31. Any three odd numbers (ending in

1, 3, 5, 7 or 9).

18. £10

19 . Draw a number line to 20

20 . 5

21 . 3 hours
22 . An even number 

23. Any sensible shapes

24. Christmas Eve

25. 9 – 2 = 7, 7 – 3 = 4

26 . 12 Christmas cookies 

13. 12

14. 12

12. 2 less

29. 3 more decorations 

28. There are 31 days in January 

27. 17 – 3 = 14, 28 – 12 = 16

15 . Eighteen 

16. 14

17. 6 reindeers short 


